














3. The function f is defined for each positive three-digit integer n by
f(n) = 2x3Y5% where %,y and z are the hundreds, tens, and units digits of
n, respectively. If m and v are three-digit positive integers such that f(m)

= 9f(v),then m —v =1









I. A square playground has the same area as a rectangular playground
that is 30 meters longer but 20 meters narrower. What is the length, in

meters, of a side of the square playground?



2.A certain theater has 100 balcony seats. For every $2 increase in the
price of a balcony seat above $10, 5 fewer seats will be sold. If all the
balcony seats are sold when the price of each seat is $10, which of the
following could be the price of a balcony seat if the revenue from the

sale of balcony seats is $1,360 ?



3. If the sum of two positive integers is 24 and the difference of their

squares is 48, what is the product of the two integers?

(A)108
B)119
(©)128
(D)135
(E) 143






5.What is Steve’s annual salary and Maria’s annual salary?

(1) The combined total of the annual salaries of Steve and Maria
is $80,000.

(2)If Steve were to receive a |0 percent increase in annual
salary and Maria an 10 percent increase, their combined annual
salaries would be $88,000.
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3. Which of the following inequalities has a solution set that, when

graphed in the number line, is a single line segment of finite length?

A)yx* =16

(B) X* <27
©C)xt=16
D)2=<|x <5
(E)2<3x+4=<6












2. If the operation © is defined for all integersaandbbya © b=a + b —ab,
which of the following statements must be true for all integers a,b,and c ?

lLaob=boa
ll.Lac0=a
. @eob)oc=a0 (boc)

(A)l only
(B) Il only
()l and Il only
(D)l and Il only

(€)1, 11 and Il



3. If © denotes one of two arithmetic operations, addition or

multiplication, and if k is an integer, what is the value of 3 © k?

(1) 20k=3
Q) 100=k















3.In the sequence 1,2, 4,8, 16, 32, ..., each term after the first is
twice the previous term.What is the sum of the 16%, 17%, and

I8 terms in the sequence!?



4.In a certain sequence, the first term is |, and each successive
term is | more than the reciprocal of the term that immediately

precedes it. What is the fifth term of the sequence?



5.The sequence aj, ay, ... , an, ... is such that a, = an.| — an2 for all
positive integers n > 2.1f a; = —| and a2 = |, what is the sum of

the first 1000 terms in the sequence?
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